

CLASSIFICATION OF COMPACT ANCIENT SOLUTIONS TO THE CURVE SHORTENING FLOW

PANAGIOTA DASKALOPOULOS, RICHARD HAMILTON &
NATASA SESUM

Abstract

We consider an embedded convex compact ancient solution Γ_t to the curve shortening flow in \mathbb{R}^2 . We prove that Γ_t is either a family of contracting circles, which is a type I ancient solution, or a family of evolving Angenent ovals, which is of type II.

1. Introduction

We consider an ancient embedded solution $\Gamma_t \subset \mathbb{R}^2$ of the curve shortening flow

$$(1.1) \quad \frac{\partial \mathbf{X}}{\partial t} = -\kappa \mathbf{N}$$

which moves each point \mathbf{X} on the curve Γ_t in the direction of the inner normal vector \mathbf{N} to the curve at P by a speed which is equal to the curvature κ of the curve.

In [4] Gage and Hamilton proved that if Γ_0 is a convex curve embedded in \mathbb{R}^2 , then equation (1.1) shrinks Γ_t to a point. In addition, the curve remains convex and becomes asymptotically circular close to its extinction time.

In [5] Grayson studied the evolution of non-convex embedded curves under (1.1). He proved that if Γ_0 is any embedded curve in \mathbb{R}^2 , the solution Γ_t does not develop any singularities before it becomes strictly convex.

Let $\Gamma_t \subset \mathbb{R}^2$ be an embedded ancient solution to the curve shortening flow (1.1). If s is the arclength along the curve and $\mathbf{X} = (x, y)$, we can express (1.1) as a system

$$\frac{\partial x}{\partial t} = \frac{\partial^2 x}{\partial s^2}, \quad \frac{\partial y}{\partial t} = \frac{\partial^2 y}{\partial s^2}.$$

The evolution for the curvature κ of Γ_t is given by

$$(1.2) \quad \kappa_t = \kappa_{ss} + \kappa^3,$$

Received 10/15/2008.

which is a strictly parabolic equation. Let θ be the angle between the tangent vector and the x -axis. For convex curves we can use the angle θ as a parameter. It has been computed in [4] that

$$(1.3) \quad \kappa_t = \kappa^2 \kappa_{\theta\theta} + \kappa^3.$$

It turns out that the evolution of the family Γ_t is completely described by the evolution (1.3) of the curvature κ . Gage and Hamilton observed that a positive 2π periodic function represents the curvature function of a simple closed strictly convex C^2 plane curve if and only if

$$(1.4) \quad \int_0^{2\pi} \frac{\cos \theta}{\kappa(\theta)} d\theta = \int_0^{2\pi} \frac{\sin \theta}{\kappa(\theta)} d\theta = 0.$$

We will assume from now on that Γ_t is an ancient solution of the curve shortening flow defined on $(-\infty, T)$. We will also assume that our extinction time $T = 0$.

It is natural to consider the *pressure* function

$$p := \kappa^2$$

which evolves by

$$(1.5) \quad p_t = p p_{\theta\theta} - \frac{1}{2} p_{\theta}^2 + 2p^2.$$

We say that an ancient solution to (1.3) is

- of type I, if it satisfies $\sup_{t \in (-\infty, -1]} \sup_{\Gamma_t} |t| |p(x, t)| < \infty$;
- of type II, if $\sup_{t \in (-\infty, -1]} \sup_{\Gamma_t} |t| |p(x, t)| = \infty$.

The ancient solution to (1.3) defined by

$$p(\theta, t) = \frac{1}{2(-t)}$$

corresponds to a family of *contracting circles*. This solution is of type I and at the same time falls in a category of contracting self-similar solutions (these are solutions of the flow whose shapes change homothetically during the evolution). We will show in the next section the existence of compact ancient solutions to (1.3) that are not self-similar. Since they have been discovered by Angenent, we will refer to them as to the *Angenent ovals*.

One very nice and important property of ancient solutions to the curve shortening flow is that $\kappa_t \geq 0$. This fact follows from Hamilton's Harnack estimate for convex curves [7]. By the strong maximum principle, $\kappa(\cdot, t) > 0$ for all $t < 0$. If we start at any time $t_0 \leq 0$, Hamilton proved that

$$(1.6) \quad \kappa_t + \frac{\kappa}{2(t - t_0)} - \frac{\kappa_s^2}{k} \geq 0.$$

Letting $t_0 \rightarrow -\infty$, we get

$$(1.7) \quad \kappa_t \geq 0.$$

In this note we provide the following classification of ancient convex solutions to the curve shortening flow.

Theorem 1.1. *Let $p(\theta, t) = \kappa^2(\theta, t)$ be an ancient solution to (1.5), defining a family of embedded closed convex curves in \mathbb{R}^2 that evolve by the curve shortening flow. Then,*

- (i) *either $p(\theta, t) = \frac{1}{(-2t)}$, which corresponds to contracting circles, or*
- (ii) *$p(\theta, t) = \lambda(\frac{1}{1-e^{2\lambda t}} - \sin^2(\theta + \gamma))$, for two parameters $\lambda > 0$ and γ , which corresponds to the Angenent ovals.*

Acknowledgments. This work was partially supported by NSF grants 0354639, 0701045, and 0604657. The authors are indebted to the referee of this paper for many fruitful comments and for providing a simplified proof of Lemma 2.4.

2. Proof of Theorem 1.1

We begin by showing the existence of the Angenent ovals (ancient compact solutions to the curve shortening flow that are not self-similar).

Proposition 2.1 (Angenent). *There exist compact ancient solutions to (1.5) which contract to a point at time $t = 0$ and have the form*

$$(2.1) \quad p(\theta, t) = \lambda\left(\frac{1}{1 - e^{2\lambda t}} - \sin^2(\theta + \gamma)\right)$$

where $\lambda > 0$ and γ is a fixed angle.

Proof. We look for a solution to (1.5) in the form

$$p(\theta, t) = a(t) - b(t) \sin^2(\theta + \gamma).$$

Then

$$p_t = a'(t) - b'(t) \sin^2(\theta + \gamma),$$

while

$$p_\theta = -2b(t) \sin(\theta + \gamma) \cos(\theta + \gamma), \quad p_{\theta\theta} = -2b(t) (\cos^2(\theta + \gamma) - \sin^2(\theta + \gamma)).$$

If we plug everything in (1.5), we get

$$a'(t) - b'(t) \sin^2(\theta + \gamma) = -2a(t) b(t) + 2a^2(t).$$

Since this has to hold for every θ , we obtain that $b'(t) = 0$, which means $b(t) = \lambda$. If we choose θ at which $\sin(\theta + \gamma) = 0$, we have

$$a'(t) = -2\lambda a(t) + 2a(t)^2.$$

Solving this ODE yields to

$$a(t) = \frac{\lambda}{1 - e^{2\lambda(t+\mu)}}$$

for some constants $\lambda > 0$ and μ . Since $\lim_{t \rightarrow 0} p(\theta, t) = +\infty$, we must have $\mu = 0$; hence p is of the form (2.1). q.e.d.

We will prove the theorem by introducing a monotone functional along the flow. Denote by

$$\alpha(\theta, t) := p_\theta(\theta, t).$$

By using (1.5) it easily follows that

$$(2.2) \quad \alpha_t = p(\alpha_{\theta\theta} + 4\alpha).$$

We introduce the functional

$$I(\alpha) = \int_0^{2\pi} (\alpha_\theta^2 - 4\alpha^2) d\theta.$$

The following lemma shows the monotonicity of $I(\alpha)$ in time.

Lemma 2.2. *$I(\alpha(t))$ is decreasing along the flow (2.2). Moreover,*

$$\frac{d}{dt} I(\alpha(t)) = -2 \int_0^{2\pi} \frac{\alpha_t^2}{p} d\theta.$$

Proof. We compute

$$\begin{aligned} \frac{d}{dt} I(\alpha(t)) &= \int_0^{2\pi} (2\alpha_\theta \alpha_{\theta t} - 8\alpha \alpha_t) d\theta \\ &= -2 \int_0^{2\pi} 2\alpha_{\theta\theta} \alpha_t d\theta - 8 \int_0^{2\pi} \alpha \alpha_t d\theta \\ &= \int_0^{2\pi} \frac{2(\alpha_t - 4\alpha p)\alpha_t}{p} d\theta - 8 \int_0^{2\pi} \alpha \alpha_t d\theta \\ &= -2 \int_0^{2\pi} \frac{\alpha_t^2}{p} d\theta. \end{aligned}$$

q.e.d.

An easy computation shows that $I(\alpha(t)) \equiv 0$ on both the circles and the Angenent ovals, which motivates the following:

Proposition 2.3. *For any ancient convex solution to (1.5), we have*

$$I(\alpha(t)) \equiv 0, \quad \text{for all } t \in (-\infty, 0).$$

The proof of the proposition will be given in two steps. In the first step we will show that $\liminf_{t \rightarrow -\infty} I(\alpha(t)) \leq 0$, and in the second step we will prove that $\lim_{t \rightarrow 0} I(\alpha(t)) = 0$. The monotonicity of $I(\alpha(t))$ shown in Lemma 2.2 will then readily imply that $I(\alpha(t)) \equiv 0$, for all $t < 0$.

Lemma 2.4. *We have*

$$\liminf_{t \rightarrow -\infty} I(\alpha(t)) \leq 0.$$

Proof. We follow a simplified proof which was suggested to us by the referee. On an ancient solution we have $k_t \geq 0$, which gives $p_t \geq 0$. Hence, $p(\cdot, t) \leq C < \infty$, for all $t < -1 < 0$.

If we differentiate (1.5) in θ , we get

$$(2.3) \quad (p_\theta)_t = p(p_\theta)_{\theta\theta} + 4pp_\theta,$$

which implies

$$\frac{1}{2p} (p_\theta^2)_t = p_\theta(p_\theta)_{\theta\theta} + 4p_\theta^2$$

and therefore

$$\left(\frac{p_\theta^2}{2p}\right)_t = \frac{(p_\theta^2)_t}{2p} - \frac{p_\theta^2 p_t}{2p^2} \leq p_\theta(p_\theta)_{\theta\theta} + 4p_\theta^2$$

where we used that $p_t \geq 0$. Integrating the above inequality gives

$$\frac{d}{dt} \int_0^{2\pi} \frac{p_\theta^2}{2p} d\theta \leq \int_0^{2\pi} (p_\theta(p_\theta)_{\theta\theta} + 4p_\theta^2) d\theta,$$

and after integration by parts, we get

$$(2.4) \quad \frac{d}{dt} \int_0^{2\pi} \frac{p_\theta^2}{2p} d\theta = \int_0^{2\pi} (-p_{\theta\theta}^2 + 4p_\theta^2) d\theta = -I(\alpha(t)).$$

On the other hand, from the inequality

$$pp_{\theta\theta} - \frac{1}{2} p_\theta^2 + 2p^2 = p_t \geq 0,$$

dividing by p and integrating, we obtain

$$\int_0^{2\pi} -\frac{1}{2} \frac{p_\theta^2}{p} + 2p d\theta \geq 0$$

or

$$\int_0^{2\pi} \frac{p_\theta^2}{2p} d\theta \leq 2 \int_0^{2\pi} p d\theta \leq C$$

since p is bounded for $t < -1 < 0$. Combining this with (2.4) implies that

$$\liminf_{t \rightarrow -\infty} I(\alpha(t)) \leq 0,$$

finishing the proof of the lemma. q.e.d.

We will next analyze behavior of the functional $I(\alpha(t))$ as $t \rightarrow 0$. For this we will use the following result shown by Gage and Hamilton in [4]. Consider the evolution of the normalized curvature $\tilde{\kappa}$, where the normalization is chosen so that the related convex curve encloses an area π . The rescaled curvature $\tilde{\kappa}$ is defined by

$$(2.5) \quad \tilde{\kappa}(\theta, \tau) = k(\theta, t)\sqrt{-2t}, \quad \text{with } \tau = -\frac{1}{2} \log(-t).$$

The evolution equation for $\tilde{\kappa}$ is

$$(2.6) \quad \tilde{\kappa}_t = \tilde{\kappa}^2 \tilde{\kappa}_{\theta\theta} + \tilde{\kappa}^3 - \tilde{\kappa}.$$

Theorem 2.5 (Gage, Hamilton). *If Γ_0 is a closed convex curve embedded in the plane \mathbb{R}^2 , the curve shortening flow shrinks Γ_t to a point in a circular manner. Moreover, the curvature and all its derivatives of the rescaled curve shortening flow converge exponentially to 1 and 0, respectively, with the rate $e^{-2\eta\tau}$, where τ is the new time variable introduced above and η is any constant in $(0, 1)$.*

We will now prove:

Lemma 2.6. *We have*

$$\lim_{t \rightarrow 0} I(\alpha(t)) = 0.$$

Proof. To prove the lemma we will analyze the normalized flow (2.6) since due to Theorem 2.5 we have good decay estimates on $\tilde{\kappa} - 1$ and the derivatives of $\tilde{\kappa}$. Notice that

$$I(\alpha(t)) = e^{4\tau} \int_0^{2\pi} (\tilde{\alpha}_\theta^2 - 4\tilde{\alpha}^2) d\theta,$$

with $\tilde{\alpha}$ denoting the corresponding rescaled $\alpha = p_\theta$. By Theorem 2.5 we have

$$(2.7) \quad |\tilde{\kappa} - 1| \leq C(\eta) e^{-2\eta\tau}, \quad \left| \frac{\partial^m \tilde{\kappa}}{\partial \theta^m} \right| \leq C_m(\eta) e^{-2\eta\tau}, \quad \forall \eta \in (0, 1).$$

These estimates imply the bounds $|\tilde{\alpha}| \leq C e^{-2\eta\tau}$ and $|\tilde{\alpha}_\theta| \leq C e^{-2\eta\tau}$ and show that $I(\alpha(t)) = O(1)$. To conclude the lemma we will need to show that $I(\alpha(t)) = o(1)$. We will do so by analyzing the linearization of (2.6) around $\tilde{\kappa} = 1$. For this reason we set $w := \tilde{\kappa} - 1$. It is easy to see that

$$w_\tau = w_{\theta\theta} + 2w + w w_{\theta\theta}(w + 2) + w^2(w + 3),$$

which we can rewrite as

$$w_\tau = \mathcal{L}(w) + \mathcal{R}(w),$$

where

$$\mathcal{L}(w) = w_{\theta\theta} + 2w \quad \text{and} \quad \mathcal{R}(w) = w w_{\theta\theta}(w + 2) + w^2(w + 3).$$

Note that $\mathcal{R}(w)$ is an error term that is quadratic in w and its derivatives. Hence, by (2.7) we have $|\mathcal{R}(w(\theta, \tau))| \leq C e^{-4\eta\tau}$. The spectrum for \mathcal{L} on an interval $[0, 2\pi]$ is given by

$$\lambda_l = 2 - l^2, \quad l \geq 0,$$

with corresponding eigenvectors $f_l(\theta) = \cos(l\theta)$ and $g_l(\theta) = \sin(l\theta)$. The semigroup representation formula for w gives

$$(2.8) \quad w(\theta, s) = e^{s\mathcal{L}} w(\theta, 0) + \int_0^s e^{(s-\tau)\mathcal{L}} \mathcal{R}(w(\theta, \tau)) d\tau.$$

Since the system of functions $\left\{ \frac{\cos(l\theta)}{\sqrt{\pi}} \right\}_{l \geq 0}$ and $\left\{ \frac{\sin(l\theta)}{\sqrt{\pi}} \right\}_{l \geq 0}$ is an orthonormal basis (of the space of continuous and periodic functions with period

2π) with respect to the inner product given by $(f, g) = \int_0^{2\pi} f(\theta) g(\theta) d\theta$, we have

$$(2.9) \quad w(\theta, 0) = \sum_{l \geq 0} (\alpha_l f_l + \beta_l g_l), \quad \mathcal{R}(w(\theta, \tau)) = \sum_{l \geq 0} (\alpha_l(\tau) f_l + \beta_l(\tau) g_l).$$

We have

$$(2.10) \quad e^{s\mathcal{L}} w(\theta, 0) = \alpha_0 e^{2s} + \sum_{l=1,2} [\alpha_l \cos l\theta + \beta_l \sin l\theta] e^{\lambda_l s} + o(e^{-2s}).$$

Also, setting

$$A_l(s) = \int_0^s \alpha_l(\tau) e^{-\lambda_l \tau} d\tau \quad \text{and} \quad B_l(s) = \int_0^s \beta_l(\tau) e^{-\lambda_l \tau} d\tau,$$

we may write

$$(2.11) \quad \mathcal{R}(w(\theta, \tau)) = A_0(s) e^{2s} + \sum_{l \geq 1} [A_l(s) \cos l\theta + B_l(s) \sin l\theta] e^{\lambda_l s}$$

where $\lambda_l < -2$, for $l \geq 3$.

We have

$$(2.12) \quad \left| \sum_{l \geq 3} [A_l(s) \cos l\theta + B_l(s) \sin l\theta] e^{\lambda_l s} \right| = o(e^{-2s}), \quad \text{as } s \rightarrow \infty.$$

Indeed, since $|\mathcal{R}(w(\theta, \tau))| \leq C e^{-4\eta\tau}$, for $\eta \in (0, 1)$, from the Fourier representation (2.9) for $\mathcal{R}(w(\cdot, t))$, we get the bounds

$$(2.13) \quad |\alpha_l(\tau)| \leq C e^{-4\eta\tau}, \quad |\beta_l(\tau)| \leq C e^{-4\eta\tau}, \quad \text{for all } l \geq 1.$$

Note that for $l \geq 3$ the above implies

$$e^{\lambda_l s} |A_l(s) \cos l\theta + B_l(s) \sin l\theta| \leq C e^{\lambda_l s} \int_0^s e^{(-\lambda_l - 4\eta)\tau} d\tau \leq \frac{o(e^{-2s})}{l^2 - 2 - 4\eta}$$

since $\lambda_l < -2$ and $-4\eta < -2$ for $\eta \in (\frac{1}{2}, 1)$. This finishes the proof of (2.12), since the series $\sum_{l \geq 3} \frac{1}{l^2 - 2 - 4\eta}$ converges.

Combining (2.8), (2.10), (2.11), and (2.12), we conclude that

$$(2.14) \quad w(\theta, s) = \bar{A}_0(s) e^{2s} + [\bar{A}_1(s) \cos \theta + \bar{B}_1(s) \sin \theta] e^s \\ + [\bar{A}_2(s) \cos 2\theta + \bar{B}_2(s) \sin 2\theta] e^{-2s} + o(e^{-2s}),$$

with $\bar{A}_l(s) = \alpha_l + A_l(s)$ and $\bar{B}_l(s) = \beta_l + B_l(s)$. We will next estimate the first two terms in the above expansion. By definition we have $\tilde{\kappa} = 1 + w$, where $w = O(e^{-2\eta s})$, with $\eta \in (0, 1)$, by (2.7). Hence,

$$(2.15) \quad \frac{1}{\tilde{\kappa}} = 1 - w + O(w^2).$$

By (1.4), multiplying (2.15) by $\cos \theta$ or $\sin \theta$, integrating it over $\theta \in [0, 2\pi]$, and using (2.14) and (2.7), we obtain

$$\bar{A}_1(s) e^s = o(e^{-2s}) \quad \text{and} \quad \bar{B}_1(s) e^s = o(e^{-2s}).$$

The above discussion implies that

$$(2.16) \quad \tilde{\kappa}(\theta, s) = 1 + \bar{A}_0(s) e^{2s} + [\bar{A}_2(s) \cos(2\theta) + \bar{B}_2(s) \sin(2\theta)] e^{-2s} + o(e^{-2s}).$$

Therefore, the pressure $\tilde{p} := \tilde{\kappa}^2$ satisfies

$$(2.17) \quad \begin{aligned} \tilde{p}(\theta, s) &= (1 + \bar{A}_0(s) e^{2s})^2 + 2[\bar{A}_2(s) \cos 2\theta + \bar{B}_2(s) \sin 2\theta] e^{-2s} \\ &\quad + 2\bar{A}_0(s) [\bar{A}_2(s) \cos 2\theta + \bar{B}_2(s) \sin 2\theta] + \bar{A}_0(s) o(1) + o(e^{-2s}). \end{aligned}$$

By the decay of w and (2.14) we have $|\bar{A}_0(s)e^{2s}| \leq C e^{-2\eta s}$, which implies the bound $\bar{A}_0(s) = O(e^{-2s(1+\eta)})$. Similarly, we can see that $\bar{A}_2(s)$ and $\bar{B}_2(s)$ are of the order $O(e^{2(1-\eta)s})$, which shows that

$$\bar{A}_0(s) [\bar{A}_2(s) \cos 2\theta + \bar{B}_2(s) \sin 2\theta] = o(e^{-2s}).$$

Differentiating (2.17) in θ and using the above estimates, we finally conclude that

$$\tilde{\alpha}(\theta, s) = \tilde{p}_\theta(\theta, s) = 4[\bar{B}_2(s) \cos 2\theta - \bar{A}_2(s) \sin 2\theta] e^{-2s} + o(e^{-2s}),$$

which easily yields to

$$I(\alpha(t)) = e^{4\tau} \int_0^{2\pi} (\tilde{\alpha}_\theta^2 - 4\tilde{\alpha}^2) d\theta = o(1)$$

since $\int_0^{2\pi} (\sin^2 2\theta - \cos^2 2\theta) d\theta = 0$ and $\int_0^{2\pi} \sin 2\theta \cos 2\theta d\theta = 0$, finishing the proof of the Lemma. q.e.d.

We will now complete the proof of Theorem 1.1.

Proof of Theorem 1.1. By Proposition 2.3 we have

$$I(\alpha(t)) \equiv 0, \quad \text{for all } t < 0.$$

Lemma 2.2 implies that $\alpha_t \equiv 0$, that is,

$$p(\alpha_{\theta\theta} + 4\alpha) = 0,$$

which means (since $p > 0$) that

$$\alpha_{\theta\theta} + 4\alpha = 0$$

and therefore

$$\alpha(\theta, t) = a_0(t) \cos 2(\theta + \gamma(t)) + b_0(t) \sin 2(\theta + \gamma(t))$$

for some functions in time $a_0(t)$, $b_0(t)$, and $\gamma(t)$. Since $\alpha = p_\theta$, by integrating in θ we obtain

$$(2.18) \quad p(\theta, t) = a(t) \sin 2(\theta + \gamma(t)) + b(t) \cos 2(\theta + \gamma(t)) + c(t)$$

for $a(t) = \frac{a_0(t)}{2}$, $b(t) = -\frac{b_0(t)}{2}$, and another function in time $c(t)$. If we plug $p(\theta, t)$ back to equation (1.5), we find that a , b , and c satisfy the ODEs

$$(2.19) \quad a'(t) - 2b(t)\gamma'(t) = 0, \quad b'(t) + 2a(t)\gamma'(t) = 0,$$

and

$$(2.20) \quad c'(t) = 2c(t)^2 - 2(a(t)^2 + b(t)^2).$$

Equations (2.19) imply that

$$\frac{d}{dt}(a^2(t) + b^2(t)) = 0.$$

Hence we can set

$$a^2(t) + b^2(t) = \lambda^2$$

for a parameter $\lambda \geq 0$. We distinguish between two cases.

Case 1. We have $\lambda = 0$. By (2.18) the pressure $p(\theta, t)$ becomes $p(\theta, t) = c(t)$, which satisfies

$$c'(t) = 2c^2(t).$$

Using that the $\lim_{t \rightarrow 0} p(\theta, t) = +\infty$, we get

$$p(\theta, t) = c(t) = \frac{1}{(-2t)},$$

which corresponds to contracting circles by the curve shortening flow.

Case 2. We have $\lambda > 0$. If we express

$$a(t) = \lambda \sin(2h(t)), \quad b(t) = \lambda \cos(2h(t))$$

for some function $h(t)$ and plug them back to the equations (2.19), we find

$$2\lambda \sin(2h(t))(\gamma'(t) - h'(t)) = 0, \quad 2\lambda \cos(2h(t))(h'(t) - \gamma'(t)) = 0,$$

which implies that $\gamma(t) = h(t) - \gamma$, for a parameter γ . We conclude from (2.18) that

$$(2.21) \quad p(\theta, t) = \lambda \cos 2(\theta + \gamma) + c(t).$$

We will now compute $c(t)$. It follows from (2.20) that $c(t)$ satisfies the ODE

$$c'(t) = 2(c(t)^2 - \lambda^2).$$

Solving this ODE and using that $\lim_{t \rightarrow 0} p(\theta, t) = +\infty$ (which implies the $\lim_{t \rightarrow 0} c(t) = +\infty$), we obtain

$$c(t) = -\lambda \coth 2\lambda t.$$

Combining the above, we conclude the desired formula

$$p(\theta, t) = \lambda \left(\frac{1}{1 - e^{2\lambda t}} - \sin^2(\theta + \gamma) \right)$$

for two parameters $\lambda > 0$ and γ .

This concludes the proof of the Theorem.

q.e.d.

References

- [1] K.-S. Chou & X.-P. Zhu, *The curve shortening problem*; Chapman & Hall/CRC, 2001; ISBN: 1 - 58488 - 213 - 1, MR 1888641, Zbl 1061.53045.
- [2] S. Angenent, *The zero set of a solution of a parabolic equation*; J. Reine Angew.Math. **390** (1988), 79–96, MR 0953678, Zbl 0644.35050.
- [3] M.E. Gage, *Curve shortening makes convex curves circular*; Invent. Math. **76** (1984), no. 2, 357–364, MR 0742856, Zbl 0542.53004.
- [4] M. Gage & R.S. Hamilton, *The heat equation shrinking convex plane curves*; J. Diff. Geom. **23** (1996), 69–96, MR 0840401, Zbl 0621.53001.
- [5] M. Garyson, *The heat equation shrinks embedded plane curves to round points*; J. Differential Geom. **26** (1987), no. 2, 285–314, MR 0906392, Zbl 0667.53001.
- [6] ———, *Shortening embedded curves*; The Annals of Mathematics **129** (1989), 71–111, MR 0979601, Zbl 0686.53036.
- [7] R.S. Hamilton, *Differential Harnack estimates for parabolic equations*; preprint.
- [8] D.S. Mitrinovic, *Analytic inequalities*, Springer 1970, MR 0274686, Zbl 0199.38101.

DEPARTMENT OF MATHEMATICS
COLUMBIA UNIVERSITY
NEW YORK, NY

E-mail address: pdaskalo@math.columbia.edu

DEPARTMENT OF MATHEMATICS
COLUMBIA UNIVERSITY
NEW YORK, NY

E-mail address: hamilton@math.columbia.edu

DEPARTMENT OF MATHEMATICS
COLUMBIA UNIVERSITY
NEW YORK, NY

E-mail address: natasas@math.columbia.edu